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Prut NEd(tan) |Profil A i fy Nt,Rd NEd/Nt,Rd
kN mm2 |mm |MPa |kN
S 58,15|TR 89x5| 1319] 29,8| 355|468,245| 0,124|<1,0
H 27,57|TR 54x5 770 17.4| 355 273,35| 0,101|<1,0
D1 52,18|TR 40x5 550 12,5 355 195,25| 0,267|<1,0
D2 14,64(TR 40x5 5501 12,5 355 195,25| 0,075|<1,0
D3 5,23|TR 40x5 550 12,5 355| 195,25] 0,027]<1,0
D4 8,69|TR 40x5 550| 12,5 355 195,25] 0,045|<1,0
Vi1, V3 6,85|TR 40x5 5501 12,5 355| 195,25| 0,035]<1,0
Prut NEd(tiak) {Profil Lteor Lol |Lor lambda |[lambda (X NbRd |NEd/Nb,Rd
kN mm mm |[mm kN

S 32,94|TR 89x5| 6235} 1,001 6235 209,23 2,74 0,123] 57,59 0,572|<1,0
H 64,91|TR 54x5| 1594 0,90| 1434 82,42 1,08 0,61| 166,74 0,389|<1,0
D1 29, 71|TR40x5 | 1967| 0,75] 1475 118,02 1,54 0,356 69,51 0,427]<1,0
D2 26,18|TR 40x5 | 2429| 0,75 1822| 145,74 1,91] 0,243| 47,45 0,552|<1,0
D3 2.64|TR40x5| 2429| 0,75| 1822| 145,74 1,91| 0,243 47,45 0,056|<1,0
D4 5,66|TR 40x5| 2968 0,75| 2226| 178,08 2,33] 0,168] 32,80 0,170|<1,0
V1,V3 | 1168|TR40x5{ 2194| 0,75 1646 131,64 1,72] 0,293 57,21 0,204|<1,0
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